oM — i B A AL R R K

TEMmRS GHEBLE £

SAoCHE 6 21 H  BAFL 24,995,000
T = % T8 A FEIT B F R o B T
T E 5 3l = U AT - HY
NFLAE B % —[a AFLA Gl 75 = [A] P X4 AL KA
YALIEE 24,800,000 AR
24,900,000 A FH R
24,950,000 () I RE
EALAMmAS 27,280,000 [ WAL =R AT L B 2142 BRI BRAmAS (HE P& £7)
(HEREET) L lpays) 22,169,000 ]




oM — i B A AL R R K

TEMmRS GHEBLE £5)

SAoCHE 6 21 H  BAFL 16,736,000
T L 4 18 I S AR IH T (T EVE T R 76 5 R 2 B4R
L e 5 Pt — R R TS L4
NFLAE B o — e AFL4 Gl 75 = [A] P AEC i) MNALF A
WAL E 16,736,000 (k) FH HR R
EALAMmAS 18,409,600 4 WAL =R NRETT24 ARG FRATRS (VB BLE £T7)
(HEREET) (R AR 14,749,000 [




oM — i B A AL R R K

TEMmRS GHEBLE £

mAITeAE 6210 BHAL 14,501,000
B * 4 AL PR PRHE /K 2 5T 04 S T (31-1 LX)
i kil b £} =it P —T 8
AL A A AL A G| # —[Al RS ES A AL KA
aE R
VEALILE 14,500,000 S %
AL 15,660,000 1 WALH RRREIRAR - 18-41 SR R (2002 )

(HEBZET)

WIESR T3

12,798,000 H




oM — i B A AL R R K

TEMmRS GHEBLE £

SAoeAE 6 21 H BAFL 5,746,000
T = 4 18 R A IH T3 (TE AT A RR)
T B % A — R AT R B
NN o — e AFL4 ;e A ] P AEC i) MNALF A
WALYEE 5,700,000 7 R
5,740,000 NIl A
5,746,000 IR AR R
EALAMmAS 6,270,000 [ WAL =T AT T HE2326-1 ARG FRATRS (VB BLE £T7)

(HEBZET

)

A A R R

5,022,000 [




oM — i B A AL R R K TS GHE RS £T)

SAoeAE 6 21 H BAFL 5,407,000
T =+ £ iR e /KA R 15 (ROFmHT D)
€L B 5 Pt =R RANET R
ANFLAE S5 55— A AL 3| % =[A] PE B34 ILE 4
gt w7 HHD
PEALIE 5,290,000 AR T Rk
9,350,000 7Y A R
0,407,000 N HE
AL 5,713,200 1 WAL SRR RIA 15854 BRI (B8 )

(HEBiZET) VRIME T kax 4,747,000 [




oM — i B A AL R R K TS GHE RS £T)

SAoeAE 6 21 H BAFL 5,023,000
T L 4 TA]) 1 558 248 H T3 CEming )1 B AR 1)
T g 5 it = U RIT
AL B o — e AFL4 o5 lA] 5% = In] P AEC i) MNALF A
Rk (k) FH HRRE
PALIRGE 4,500,000 B TR 7 /L
5,000,000 W)L — %
PEALATIRE 4,950,000 M VAL =2 ET3-18-3 ARG FRATRS (VB BLE £T7)

(HE P EETe) Rk TEYT v 4,377,000 [




B4 omoF A AL R R R

TEAmRE GHEBLE £5)

ST 6 H21H  BHAL

38,546,000

¥ % % TR R EH T
¥ % 3l =R AR
ik 5 —[a AFLA S ]| g S ] P X4 T ML K4
N 30,192,000 773y =TV W R S AT
WALYEE 30,819,000 K AT—aL YV x MR = R SE AT
30,820,000 BRFE et a L2 s = R ST
30,836,000 B AR L2 N R = 2T
30,836,000 (Rl L Bk = R 2T
30,836,000 SR L2V R = R ST
30,836,000 R —ABAFE a2 = 2T
30,836,800 A - T AR IR G ST
30,850,000 e ] B R R A (B — R S A
30,850,000 (*ﬂE)JzW%*E 3T
30,852,000 WE Ay =7 =R E
30,881,000 ()fﬂ%ﬂ;ﬁ“ )5
30,882,000 GIEE E/ﬁl@;ﬁp
30,890,000 W22 s dgi o Y L2 b = R ST
30,912,000 (*%Elﬂn:lﬂ:‘/w/b JR3)E
PEFLAMRE 33,900,900 [ WAL = U R T2 11198 ARG FRATRS (VB BLE £T7)
(HEREET) HA TR YL MR = R 2T 30,789,000 [




e 4 W4 AN LR R & TREARE GHE B £T)

SFocHE 6 21 H BAL 17,260,000
3k % % WM A R G 5 2t (BB
3 w5 % Pt —JREEET=TH
ik o — e AFL4 Gl 5 = [m] P X4 T ML K4
E31E WREL R BT 72 T v [ St
TR NTFREAT =V T RIS R Z)E
TR KB ATV H MR E S
WAL E 13,796,000 (e G IN -
16,400,000 [ AN e ittt e I g Ny ok % S
17,200,000 r ] BH S R A = R S
17,260,000 (PP NINCS X W
17,260,000 WRFD=Ea% it = R )5
17,260,000 XTI g7V [ E SR
17,260,000 R = Az s g S At
17,260,000 (lmet=g I s
17,260,000 (R A ™ H ASH AT BRI S 3
17,260,000 T L2 NERAE L 2 AT
17,260,000 PR A SR B L 3
PEFLAMR 15,175,600 4 WAL J & TR XN T 357 BRI BRAmAS (HE P& £7)

(HEBiZET) (Sl o/ IN =% 13,796,000 [




B4 omoF A AL R R R

ST 6 H21H  BHAL

T (HE LS £
11,332,0000

3k % 4 IR 36 il LR T A %5
3k % 5 it U PN P (58 A Al T ) PN )
ik o — e AFL4 Gl 5 = [m] P X4 T ML K4
REIR FERE AR L2 (B R E S A
Bk [ B0 B 32
TRk e RIN -3
FEk IS Jhs
U [%&FLPLE 9,017,000 I FH HIVE (BRI 55 S T
<L 9,017,000 Hh o B RS OB P [ 3
9,037,000 R et = A NSNS 2 5
11,280,000 7T WA B S5
11,300,000 IR T 4 LB R E S
11,332,000 BT L2 MR 1L S PT
PEFLAMR 9,918,700 M WAL Js 055 AR B 333 ARG FRATRS (VB BLE £T7)
(HEREET) i FH HVEE (BRI 185 3 T 9,017,000 1




e 4 W4 AN LR R & TREARE GHE B £T)

SFocHE 6 21 H BAL 7,126,000
ES % 4 3B S5 BN ZE B Z Rt (TE V8 H PE T 54 5891
3k w5 % At = JEUTT VA H PR TN AL
ik 55— A AFL4 G| e P X34 T NFLF A
RraR (R FH HH R
BALEE 5,500,000 0 L AL
6,750,000 W7 A a—R
7,000,000 K ZEIT v
Ve LAt 5,940,000 VLA = JUHTYA R A 69113

(HEBZET) (LA




B4 omoF A AL R R R

TEAmRE GHEBLE £5)

SFocHE 6 21 H BAL 6,320,000
ES % 4 I8 S5 BN ZE R Z Rt (T BN 38 )
ES w5 % 3l IR Z AT LT B Ak
ik 55— A AFL4 G| e P 5 X4 T ANFLE K4
<L 6,000,000 Rk TRYT L
<C [#EALIRE 6,000,000 7 A -a—R
6,320,000 () 1L ASHE
PEALATIRE 6,480,000 [ VAL =T AJF4-15-20
(HEBZZT) W7 A a—K




B4 omoF A AL R R R

TEAmRE GHEBLE £5)

SFocHE 6 21 H BAL 3,284,000
3k % % IR CR BB - H PR - i ARSI - JBE SN R LR A7 3 S5 2ot
3 w5 % Pt —JR YR — T H gl — T H
ik o — e AFL4 Gl 5 = [m] P X34 T ML K4
E31E GIES Aty
Bk KT AR
Rk V)i s
FEk (RIRE T Ak
WALIRE 3,070,000 () 1LIBE A1
3,150,000 () 3 el
3,180,000 A 2E
3,210,000 Se Wik R )
3,220,000 (bR P e A
PEFLAMRE 3,377,000 VAL =T E4-2-30 ARG FRATRS (VB BLE £T7)
(HEREZET) ()RG5 2,868,000 1




B4 omoF A AL R R R

TEAmRE GHEBLE £5)

(HABZET

)

W I TR T =50 AT

SFocHE 6 21 H BAL 1,660,000
¥ % % HRET 25 L RNKBEAK AR 78 TS % A 2% &t
¥ % % 3l =R =T H
ik o — e AFL4 ;=] 5 = [A] P X4 T ML K4
ALIEE 1,307,000 W EE =I5l 2T
1,308,000 IR LA = R ST
1,308,000 7o o=
1,308,000 Rz T = R 2T
1,600,000 (DA = 3 e e AV S N - = & 5
1,660,000 r ] BH S R A = R S A
1,660,000 7 —ABAF YL 2N = R ST
EALAMAS 1,411,560 M WAL =R 3-10-10 BRI BRAmAS (HE P& £7)

1,306,000




B4 omoF A AL R R R

TEAmRE GHEBLE £5)

SFocHE 6 21 H BAL 1,300,000
3k % 4 /NP3 B MRS T H IR G ERE
3k % 5 At —IRHPEE T H
ik o — e AFL4 Gl 5 = [m] P X34 T NFLF A
31 1Al
FEIR W)/ RE = T
TRk W7 4 —T U RE r— X R T
FEIR (FSpRAN < 65 am N AV O N = -2 255 T
REIE B —REeo =7 =5
EALIEE 1,280,000 fif] FH AR % B S S I — U 26T
1,300,000 ) R EEER s T — U T
PEFLAMRE 1,382,400 4 VAL SIRHZER A 3-22-8 ARG FRATRS (VB BLE £T7)
(HEREET) [o]) FH S L R 55 T — Il 2E P 1,028,000 [




